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QUESTION 1

Scenario: An administrator is setting up a XenApp farm. There are 15 to 25 users in the farm. To ensure high
availability, two servers will be installed. The administrator is deciding on the best placement for the Web Interface
server. Remote access is NOT going to be considered at this time.

The administrator should install the Web Interface . (Choose the correct option to complete the sentence.)
A. on both servers

B. on one of the two servers

C. and XenApp on both servers

D. and XenApp on one of the servers

Correct Answer: C

QUESTION 2

Scenario: Users are receiving the error shown in the attached exhibit when connecting to Notepad on XenApp.

Applications Deskicps

'ﬂ An error occdrred while making the requested connection.

The administrator runs the QUERY FARM command on the server and receives the results shown in the second
attached exhibit.

Which three events could the server load value of 10,000 indicate? (Choose three.)

A. The server is offline.

B. The server CANNOT contact the Citrix license server.

C. The server has reached its limit of 10,000 running processes.

D. A server load evaluator applied by policy indicates the server is at full load.

E. The particular server has a problem reading performance counter information.

F. The administrator has assigned an invalid load evaluator to the server using a policy.

Correct Answer: DEF

QUESTION 3

Scenario: An administrator has published Microsoft Excel on two identical servers and has placed those servers in a
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worker group. There are 150 users in the environment, and each server must be allowed to accept all 150 user sessions
for failover purposes. All users start work at

09:00

in the morning. The administrator also wants to prevent the servers from failing due to excessive connection attempts
during this logon time. What can the administrator do to ensure that the server farm can meet these requirements?

A

Assign the default load evaluator to the worker group.

B.

Assign the advanced load evaluator to the worker group.

C.

Create a load balancing policy and assign it to the worker group.
D.

Create a custom load evaluator and assign it to the worker group.

Correct Answer: D

QUESTION 4

Scenario: An administrator plans to add printer drivers to the auto-replication list in a XenApp 6.5 environment. The
administrator needs to ensure that a specific vendor printer driver is available on all servers in the farm including any
new servers that are added at a later date.

How must the administrator add printer drivers to the auto-replication list?

A. Through a Citrix policy

B. With a PowerShell cmdlet

C. With the PrintCfg.exe tool

D. In a per-server registry setting

Correct Answer: B

QUESTION 5

An administrator of a XenApp 6.5 environment needs to determine which printer drivers are native to the operating
system and which ones are provided by the vendor.

Which two can the administrator use to find this information? (Choose two.)

A. AppCenter
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B. PnPUtil.exe
C. Print Detective
D. Configuration Logging report

Correct Answer: BC
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